Mean Spectrum

—; g
‘I' v
P [
1
€ s
(3] v
o . 1AvG
©
~ A cont
o
= Fe2
‘._r<
1BLR
" . | NLR
HH rlKHTJHHI\.. s il
3000 4000 5000 6000
A (R) z = 0.45777

RMS Spectrum

fa (107" erg em™2s7'47")
2

3000 4000

A (R) z = 0.45777

5000 6000

x(\t) =
X*/(413820-5257)=0.914=>0.990

( Data — Model ACgB,F ) / o X

5
©
o
D
o
[ -
]
2a
E
3
(=]
Eo °
57
[*]
'3
a -
n 1
o
«

-2

527

5000
0.45777

4000
AN@)z=

6000 2>+6.00

bad:2511=0.61%

4 = 0.00B(25) x = 0.951(79) => 0.951(79)
med(mad)

A ©o '
= "\ . lh‘uh
e ' X
TR
o . o B TR
Ml sl . L
© taball ) L T LU L ‘ ) 1
[ |||||;|I|I||'|l|l|l|;||"|l||l|| IIIIIIII:IIIII
3000 4000 5000 6000

2>+8.00
A (R) z = 0.45777

BLR

& and x

Continuum Lightcurve

rm101 med(mad)% c5
LN LA N I L A BN | L R B | B ALANL B | I N
( Ac(4176R) 0.8(9.6)% S/N 2P I
< - 1
&
]
§f o
£
(3]
2
(1)
~ o
°
=
o~
|

MJD — 2450000

BLR Lightcurve
rm101

77—
S/N BLR 17 Ha 57 HE 68 Hell 60

N - N - N - N - il
7000 7500 8000 8500 2000

MJD — 2450000
Phot Corrections
rm101 med(mad)% Ap 1

T T T T T T T T T T T 1
= Ap 100.0(3.7)% S/N 24 E
Prior(Ap) 5.0 %

1.4

7000

7500 8000 8500 9000
MJD — 2450000
4 = 0.0052(97) x = 0.906(24) => 0.907(24)
rm101 med(mad) AC,B,F
—— s L0

o -h,._w__%.##-‘_ﬂaﬁ_.é!ﬂ-ﬂ

R — || L
7500 8000
MJD — 2450000

A - R — -
7000 8500 9000, .



